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Note
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SOCIAL WORK

Paper II

AHTSTRT
goaIent 11

Time Allowed : 75 Minutes]
: This Paper contains Fifty (50) multiple choice questions. Each question

[Maximum Marks : 100

carries Two (2) marks. Attempt A/l questions.

LI ~
Td YT I Gredl.

: I YTAUCIehd TRUT USTE (50) SgUdiEl Y 3TRd. Yk WYl | (2) T 3T

Secular ideologies deals with :

(A) Belief and explanations that
legitimate a scoial structure

(B) Purpose of life and death

(C) Social inequalities

(D) Superstitions

Child-line is helpline ...........

(A) for all children

(B) only for school children

(C) only for orphan children

(D) only for child in conflict with
law

Three classic models for group

practice are ..............

(A) Social goals, reciprocal and
remedial

(B) Therapeutic, reciprocal and
remedial

(C) Remedial, residual and
advance

(D) Remedial, social goals, team

Tyt qraa EelieTis! YR Hefta

e ?

(A) ST £IT ST TR < HAH
A EIad 3

(B) \MEl oAM=l SEToaT-HI0ATE 39T

(C) qTiSeh STHHM

(D) UG

(D) wek Taeht Fesd qael

HEhE I FAEhd TET

(A) gETS® €39, qrREafis A1
ERIRIRIED

(B) SYERIcH, YREAR 301 SUTHS

(C) 3UMEIcHe, AT U Wt

(D) SUMATCH®, GrHIfSer €99 AT
Erli
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Mary Richmond’s ‘Social Diagnosis’
can be considered as the first book
of :

(A) Social group work

(B) Social and preventive medicine
(C) Social case work

(D) Community organisation

Hallucination is a common

occurrence in clients with :
(A) Substance abuse

(B) Depression

(C) Regression

(D) Phobia

Public Corporations have been
created with the objective of :

(a) To increase profits

(b) Operational flexibility and
autonomy

(o0 Creating various job

opportunities
(d) Handling large scale projects
Codes :
A (a)
(B) (D), (0, (d)
C) (D)
D) (o), (d)
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(D) HHSE T

qEICTueh] IO STRTATAT S 9™
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(B) sEERyw (TE=drn)
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(b) HTATCHE Talehdl ST TRRIGHTS!
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(d) IS Tehed BesudTeh il
Hehdich :

A) (a)

B) (D), (o), (d

(C) (D)

D) (o, (d




The Indian Constitution states that
all citizens are equal before law,
citizens have freedom of speech and
expression, and citizens have
freedom of association and peaceful

assembly.
Select the correct answer :

(A) All the above are Directive
Principles of State Policy
outlined in the Indian

Constitution

(B) Some of these are Directive
Principles of State Policy
outlined in the Indian

Constitution

(C) None of these are Directive
Principles of State Policy
outlined in the Indian

Constitution

(D) These rights are not mentioned

in the Indian Constitution
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10.

Social protection does not include :

(A)

Core for vulnerable groups
(B) Doling out alms
©)

(D)

Providing food subsidies

Providing benefits to

unemployed

The first to introduce the term

“Collective bargaining” :

(A) Robert Merton

(B) Sidney and Beatrice Webb
(C) Amartya Sen

(D) John Keynes

Assertion (A) : Higher education
sector in India is third largest after
China and United States. Yet the
weaknesses outweigh the strengths.
Reason (R)

allocation is responsible for lowering

: Less budgetary

the quality of education imported in
India

Codes

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A)

Both are false

Both are true but (R) is not
correct explanation of (A)

(A) is true but (R) is false

(B)
(®)

(D)

10.
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Hehdiah :
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11.

12.

13.

Corporate social responsibility is .......
(A) ‘Corporate Citizenship’
(B) Corporate Policy

(C) Company’s responsibility

towards employees
(D) Corporate charity

Which of the following is not a
patient’s right ?

(A) Right to equal access to
treatment

(B) Right to euthanasia

(C) Right to second opinion
regarding treatment

(D) Right to give informed consent

‘Habeas Corpus’ means :

(A) The accused be provided free
legal aid

(B) The under-trial be released

(C) The prisoner be presented
before the judge

(D) The prisoner be allowed to meet

his lawyer

11.

12.
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14.

15.

As per the Sexual Harassment of
Women at Work Place (Prevention,
Prohibition and Redressal) Act,
2013, which of the following is not
a duty of the employer ?

(A) Provide a safe working

environment

(B) Display permanently formation
of ICC and penal consequences

of sexual harassment

(C) Provide a lawyer to the
complainant
(D) Organize workshops and

awareness programmes for

employees and ICC members

As per the Juvenile Justice (Care
and Protection of Children) Act,
2015, which of the following orders

cannot be passed regarding
juvenile ?
(A) Direct the juvenile to

participate in group counselling

(B) Order the juvenile to perform

community service
C)
(D)

Send the juvenile to prison

Order the parent of the juvenile

to pay fine

14.

15.
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16.

17.

18.

GDP growth is the indicator of :
(A) Socio-economic development
(B) Economic development

(C) Market index

(D) Global Economic Index

The Jan Dhan Scheme is part of the
Government plan to provide :

(A)

Micro-credit to rural women

(B) Loans to farmers

(C) Banking facilities to the poor
and encourage savings

(D) Funds to entrepreneurs for

initiating small scale business

The global agenda for social
development for the period of 2012-
2016 is :

() Promoting social and economic
equalities

(i7) Promoting the dignity and
worth of peoples

(izz1) Working towards environ-
mental sustainability

(iv) Strengthening recognition of
the importance of human
relationships

Choose the correct answer :
(A) (1) only

(B) (1) and (i) only

(C) (1), (1) and (i) only
(D) (1), (10, (d11) and (iv)

16.

17.

18.
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19.

20.

Identify the Sustainable Develop-
ment Goals, 2030 from the

following :

(A) No poverty

(B) Decent work

(C) Life below water

(D) All of the above

Assertion (A) : The Indian Consti-
tution empowers the state to make
special efforts for women and
children and for advancement of
socially and educationally backward
classes.
Reason (R)

development is not possible without

:  All round national

bringing women and other backward
classes on par with the rest of the
community.

Codes

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A)

Both (A) and (R) true but (R)
is not the correct explanation of
(A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

()
(D)

19.

20.
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21. Integrated Social Work refers to the | 21, wsmiferer wae & wo Bl
use of .............. approach in the e T ST e e
practice of Social Work.

(A) THATRIU
(A) Combination
.. (B) HAHHTORTH
(B) Holistic
(C) Ecological (C) AterRoIferser:
(D) System (D) F=

22. Assertion (A) : Utilitarianism has | 22. faegm (A) : SERERKIEIHES I EREI
been criticized for creating a world HIeTeh! 3T STel HHI0 S0 a6 UM
of possessive individualism. N
Reason (R) : Because social values )

®IUT (R) : =t fAfHdt earfo
were considered secondary to the
creation and satisfaction of wants. SRRITEAL Sed St 3eTH 6=
Codes T HHTA ST
(A) Both (A) and (R) are true and Hehdich :
(R) is the correct explanation (A) (A) =71 (R) S=T seR 3197 (R)
of (A) T(A) T TgH TR B
(B) Both (A) and (R) are true but NN - .
(B) (A) 71 (R) ST sI& 3Aed W
(R) is not the correct
(R) T (A) = 3Tk WA T8
explanation of (A)
(C) (A) is true but (R) is false (©) (&) & TR 3¢ WY (R) TF e
(D) (A) is false but (R) is true (D) (A) 9% 3R WY (R) TN 3T
11 [P.T.O.



23.

24.

(a)

(D)

(0

(d)

The concept of ‘Deserving and non-

deserving’ was coined by :
(A) Darwin

(B) Malcom

(C) Karl Marx

(D) Newton

Match the following and choose
correct answer from codes given

below :

List I List II
Rabindranath (1) Sevagram
Tagore

Raja Ram (i1) Arya Samaj
Mohan Roy
Dayanand (i1i1) Brahmo Samaj
Saraswati
Mahatma (iv) Shantiniketan
Gandhi

Codes

A) (a)—(D, (b)—(iiD), (o—(iv),

(d)—(11)

(a)—(i1), (b)—(1), (e)—(ii1),
(d)—(iv)

(B)

(C) (a)—(iv), (b)—(i1D), (e)—(iD),
(d)—(1)

D) (a)—(1), (b)—(iD, (o)—(iv),
(d)—(iil)

23.

24.

(a)
(0)
(0
(d)

JAN - 20218/II—C

‘q emfor oTur’ & Gehedwm Yo
wEat ?

(A) =Ife

(B) HIeHH

(C) =Tt o

D) =

SIS e ST @rett feerea Hendienid

I I Faer

RIC| RIC
fagTa eFik () Hawm
TS THHEA T (7)) T |HS

TAFE WA (i) SR FHIS
TRIcAT Teft (7v) St fAhaq
Hehdiah :

(A) (a)—(1), (b)—(iiD), (c)—(iv),

(d)—(11)
(B) (a)—(iD), (b)—(1), (c)—(iiD),
(d)—(iv)

(C) (a)—(iv), (b)—(ifD), (e)—(iD),

(d—(2)
D) (a)—(1),

(d)—(111)

(b)—(i1), (e)—(iv),

12
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1 T is one of the techniques to | 25. = ? 1, S qen fam = sewidia
develop sensitivity about class, caste STHAMAEE HogeNetal foehfad v
and gender inequalities. a9 B
(A) Power dynamics (A) =T TRt
(B) Transect walk (B) @R &4
(C) Power walk (C) ¥ ®a
(D) Power analysis (D) g1 foagarom
26. ‘Social and Cultural Mobility’ book | 26. ‘wmfSer ofor AEmfaes Tfaeiemr’
was written by : q&deh A fafed
(A) Sorokin (A) GRifRA
(B) Weber (B) I,
(C) Amartya Sen (C) 3w o
(D) Auguste Comte (D) 3AMTE i
27. According to Weber, the three types 97 3|®|{0¢|le1{ %ﬁlccilt\{ 7 TR
of leadership are :
(A) Charismatic, traditional, (A) SerIfeRd e, TR S fereeht
rational %@_O[
(B) Charismatic, institutionalist,
specialist (B) detdiferd, TeeTeHsh, foRmoas I
(C) Charismatic, controller, e o - .
(C) dct™lehd, THIAh, HHZah
organizer
(D) Specialist, controller, organizer (D) forroest, frsten, Heeeh
13 [P.T.O.



28.

29.

30.

According to functionalist pers-
pective of sociology, each aspect of
society is :

(A) Complementary
(B) Co-exist

(C) Independent
(D) Interdependent

The aim of new economic policy in
India is :

(a)
(b)

Reduce inflation

Encourage foreign direct

investment

Achieve

growth

economic

(0 higher

Enhance inflation and tax rates

(d)
Codes

A) (a), (o

(B) (9

C) (a)

D) (a), (b), (0

Which of the following is not allowed
under the Right to Freedom of
Religion enshrined in the

Constitution of India ?
(A) Right to preach
(B) Right to practice
(C) Right to convert
(D) Right to propagate

28.

29.

30.
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AN Y&% U U
(A) TERYH

(B) wesfi&ic

(C) Tt

(D) TREEes

qRAMA a1 STfe  gRomen Se9

(a) VIEENE HHT ]

(b) T THT AT TedTed <01
(¢ 3Tfieh el Seaad g YTe shiul
(d) WiEdE U G a6 HI)
Hehdich :

(A) (a), (0

(B) (0

©) (a)

D) (a), (b), (0

YRATT WIS shed Seleiedl et
G EATadehl HIMAT TLET
T ?

(A) THHeITET STfEeRR

(B) U SR HITIMET TR

(C) @il H{oA= SRR

(D) ¥H=T TER HI0AEN SRR
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31.

32.

Ammendments in laws related to
safety of women at work place

are :

(A) Macro level interventions

(B) Mesolevel interventions

(C) Crisis intervention

(D) Micro level intervention

In couple counselling both the
husband and wife are counselled,

the clinical practice involves

level intervention.

(A) Primary

(B) Family

(C) Relationship

(D) Micro

JAN - 20218/II—C

31. sl fommft fomm=n FRismade]

32.

S I ol ©

(A) Hehl &S AL -LEH

(B) THell weriel STieRi-Te

(C) STU= ST

(D) HEh! WU ST

SR HHURYE U o UeH SreieR

THIRYA el S, 3TN fafhe st

(A) WafHe
(B) =higfaeh
(C) =TI

(D) g&
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33.

34.

35.

Which of the following is/are not
learning method ?

(a) Insight

(b) Observation

(0 Modelling

(d) Trial and error

Codes

(A) All are learning methods
(B) (¢) is not a learning method
(C) (b) is not a learning method

(D) (b) and (¢) are not learning
methods

Which term among the following
refers to physical and psychological
exhaustion caused by inability to
cope with stress ?

(A) Crisis

(B) Burn out
(C) Frustration
(D) Insomnia

........... spelt out the tasks of
developmental stages.

(A) Freud

(B) Elizabeth Hurlock

(C) Havighurst

(D) Skinner

33.

34.

35.
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TE 2

(a) Qe

(b) flteqom

() °TREM 3TIHI0

(d) 991 9HIQ

Hehdlah :

(A) g9 1IT= Usdl SARd

(B) (¢ & STeaar=l qsdt el

(C) (b) B AT Tgdl &l

D) (b) 3 (o) A HIA=AT Tgat
B

AT TR0 FHR oA TR
JUT IR o HHAES gy i
R ?

(A) 3t

(B) & 3T=e

(C) forthet

(D) fasmm

foehraren cw & HIv "ieedt ?
(A) HES

(B) Tferemely &eleh

(C) wfemee

(D) f&™
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36.

37.

Which of the following is a task-
oriented community work approach
identified by Jack Rothman ?

(A) Welfare Model

(B) Locality Development Model
(C) Developmental Model

(D) Selling model

The

functioning

principle of democratic

in community
organisation is based on the belief

that :

(a) There is a tendency among
common people to remain
passive and allow others to take

decisions on their behalf

(b) The organisation should be kept

flexible to accommodate people

()

Human beings
difficult to handle

are more

(d) The worker should not impose

his/her ideas on people
Codes

(A) (a), (b)

(B) (a), (b), (o)

C) (a), (d

D) (b), (d)

JAN - 20218/II—C

36. WIClicTieshl Sfeh A A=A Tt ge

37.

TS e g

TR,
(A) AU greyq
(B) TfHer fa&™ W&y

(C) fomEHe: ey

(D) fot wew

TS FHANA Aleheme! d ¢

I FESAER TR 3T

(a) HHFI AT SRt T =h

TR o fuf wmer o gt

(b) HEISA AR TG TR T

R2IE]

(¢) Wl Bdeetl ®R holvl 378

(d) FEHRAE =AY/ Heg
TR TG T
U

A) (a), (b)
(B) (a), (b), (0
©) (a), (d

(D) (b), (d)
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38.

39.

40.

The use of the term ‘Community

work” was popularised by :
(A) Gulbenkian Report
(B) Dennis Report

(C) Budock Report

(D) Robert Park Report

‘Veganism’ which believes in not
utilising any animal products in
their diet or lifestyle, is fast
becoming a movement today. In
which of the following type would
you classify it ?

(A) Revolutionary movement

(B) Revivalist movement

(C) Subaltern movement

(D) Alternative movement

Which Indian Social Scientist coined
the phase “non-party political
formation” for autonomous people’s

organisation ?

(A) Ghanshyam Shah
(B) Dipankar Gupta
(C) M.N. Srinivas

(D) Rajni Kothari

38.

39.

40.

JAN - 20218/II—C

¢ () hd Al N o
HHQIH onlH _‘épf HdencqHl AT dleh A4

el

(A) TASFRIIT 3TEaTA

(B) Sf9 =18ard
(C) Jelh 3T8dTd
(D) s Tk 3TedTd

‘SEA’ US| ATUATARE TER sheldl
AT SUANT STERIA AL S{erTd
-0, AU fe Th osees Fell 3R
ITAT qFRI HIOEAT FHNI@ IR0
HaA 7

(A) HIfdhrl TBdes

(B) AESSior Headcs

(C) TR Heseled
(D) TIE TsdB

cAThT=a WM o9l ger-fyem
USAfass A" g Geheudr HI
Hreall ?

(A) TFIH TR
(B) feqient 1w
(C) TH.TH. siframg
(D) TSH! whISRT
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41. Which of the following is not a 41, ST EOR A E Ty ey
reason for the use of ice breaker
SR TRERETE ST SUIRTIG STUMEET S0l
exercise in a group ?
T ?
(A) Members introduce themselves
(B) Members become acquainted (A) TeRi@ HeE T e <A
with one another (B) W& USHHER uRfad g
(C) Facilitate communication L
(C) AT Halg AH hidd
(D) Members decide if they wish to
be members of the group or (D) Terd w1 A @ S
not Tl He& Sedrd
42. A visually impaired group member | 42. TRHUIEEEA =l WG T TH
wanted to leave the educational feeam (3fega) gertt faen @ foswmrmon
group as she could not follow the RS SOR qoRd 3T e A=
discussion based on charts and FTehRe BId THAT e HeX T Hig, gfeed
diagrams. BIt. dogl ATfGhRUN TeahHhcaiher
Which principle of group-work was T el TEhE=Al Twaral STaed
not followed by the group worker ? el Aol ?
(A) Guided group interaction (A) wafeiRa Fg-stafsea
(B) Flexible functional organisation (B) "= Ao hrEAdGdl
(C) Continuous individualisation (C) Hrearyuf ERIESCRY|
(D) Controlled group interaction (D) fraf H*-gé—diicl{rshm
19 [P.T.O.



43.

44.

The process whereby individuals or
groups are held responsible for
making their own decision is known

as :

(A) Autonomy

(B) Empowerment
(C) Team building
(D) Multitasking

What purpose does process
recording serve ? Write the incorrect

answer :

(A) These are useful as teaching

learning tools

(B) It assumes appropriate follow-
up in case the student is not

available in times of crisis

(C) The student learns about her
own feelings and behaviour in

her interaction with clients

(D) If the client has malafied
intention, police can be
informed.

43.

44.

JAN - 20218/II—C

1 YA it ST WHE ¥
A 1S Beied U SeeR Roard

Jdqrg o gfshar WU :

(A) T

(B) wacieho
(C) TefAfHd

(D) 3TIRfaY &E

[ N Ay o »

IOl 3G e

L 2 fooiean qaEmYT g% W

IREEIIE

(A) Tl T@= Rreranl =1 gishad @
SUTH e

(B) Hewien uRfeerdia il Suetsy
THA T SN AR AR S

Ul GLATd

(C) Treromy guTSTeRTT=n faemelt e

STRTCTHeT= STARThagT w@d =

WENEAT qel ga-Teed ¥Tehar

(D) SR ST 3q ke ¥d @™
T Sha3faedl S Iehd
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45. Assertion (A) : Group memebrs can

learn that they are worthy of love
and caring, and that people will
treat them differently from how they
were previously treated.

Reason (R) : Group becomes the
context through which members
deal the painful experiences they
had as members of their families of
origin.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A)

(B) Both (A) and (R) are true but

(R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

JAN - 20218/II—C

45. fagm (A) : FqeEe=™Y § YHE a1

AT AT ShlesSi] U U TR B

STofte 3, ST = s 1 gat ue

STeEITIehI=l SUeh Qalel & @il

SILIERCHE

®RUT (R) : TENIE AGA e

3 HZE T IEAAT S AV

YT I 3Aed o faeaxoar=n
HHE Teh HIEFH Sl
i

~

(A) (A) 2o (R) <€l ssR 31 (R)

T(A) T TH TR B

(B) (A) 3T (R) SN SeR 3Ted g

(R) T (A) = 3T TLHRI o8
(C) (A) sR=X MR Ry (R) IH M

(D) (A) TF 3¢ g (R) SR 3T
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46.

47.

48.

‘Focus group discussion’ is generally

used in research.

(A) Qualitative
(B) Quantitative
(C) Quasi-experimental

(D) Quasi-survey

In one of the research studies a
researcher disclosed the identity of
the respondents, inspite of non-
disclosure commitment, it is a
violation of which of the following

ethical principles ?
(A) Integrity

(B) Transparency
(C) Beneficence

(D) Assurance of anonymity

‘T believe nothing until I see it with
my own eyes’'—In research it is
.............. statement.
(A) Assumption

(B) Hypothesis

(C) Empiricist

(D) Rational

46.

47.

48.

JAN - 20218/II—C
‘gz fga ==t & wdEERerg
TN STAT

SHTTATd.

(A) TUcHR

(B) S&AHSE

(C) TH-WANTHR
(D) Te-Fe&u

TehT TRNEATT TR 13 SeeH

FHLOATE] ATEAR] STHAAT ST

3festel SUE hell, TATC WeteTdehi

IV Afdeh Hedrd Seered Tl ?

(D) AR &

¥ (a o

‘H IvTemEr Meier |

Y 3ad T8l
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49.

50.

Assertion (A) :It is possible to

refute or disprove theory.

Reason (R) : Theory is always

irrefutable.

Codes

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but
(R) is not the correct

explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
Chi-square (x2) TS
(A) Parametric test

(B) Validity test

(C) Reliability test

(D) Non-parametric test

49.

50.

JAN - 20218/II—C

faeam (A) : Tosd g TR, TR

SIS RMehdld.

HROT (R) : fogm J@d= EsTd

SISKIGH

Hehdich :

(A) (A) Ffor (R) =1 SR 3t Ao
(R) B (A) o 3T TR 3R

(B) (A) 37T (R) Tl aeR 3Ted g

(R) ¥ (A) ¥ 3T9eh TR0 TE]
(C) (A) ¥ e 38 g (R) ¥ 9%
e
(D) (A) B = 318 W (R) € s{I=R 318

o} fa
[l

(A) THI® =TT
(B) Jear =m=it
(C) favawsrzar =m=i

(D) AA-UTHIE =\l
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